<o @> (rad)

L E3

0.5 =

107 1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TTNEWHS_ALLITERS
—— DQM_mkFit_ TTNEWHSMS_ALLITERS

100r

< 00, > (M)

1071 1

<opyp, > ()

Ratio

5 T T

] N
IR PR T N |
7) SRR RS R 1| R

F : 4+
] T R |
OE_ ............ w...:-‘-l-- ........
- Fermneeeeaas R & o N
R R R R R R T PR PP Ll RPN

o E
-3 Fermneeeeaas FEEEEER P L& EEEEEEEN
_4:_ ...........................................
T-E: .....! L | ol

r E b

T :*r" f - O  LREREEE

; AT BRI TT
0.8-—"""""':""""“:":: ..."...E.. ........

T +

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

+| |

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


